. £
L Mz
- —
rrm——

Table 3.2 Equations for the six representations of a linear
resistive two-port

Representations Scalar equations- Vector equations
Open-circuit Uy, = rydy ol v Ri
resistances e T T
Shﬂ;t—cfi;;uit I, = 8,V + 81,0 P
conductances =
b = 82101 T 82203
H}'bl’ld]u U= hnll + Jh12”7_ v, ] s H[ i] J
Iy = hy iy + hy,v, LI, U,
" [ e j . ~ *
H}"brld 2 151 - h11U1 g h‘{giz L ] s Hr[ Uy :’
N ! - H
Uy, = hyvy t+ byl L U, Ly
Transmission 17 Uy = 1,V — 1,50, B2 ] =T[ v, |
I = Uy — Iyl = ;-
Transmission 2+t U, = U + 10 [ v, ] _ T’[ Uy |
. T : [ i - '
= =0 U, T i1, e I

f For historical reasons, a minus sign is used in conjunction with i,.
Because of the reference direction chosen for i,, —i, gives the current
leaving the output port.




